
SOLUTION SAMPLE-9
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y2 + z2 = ayz ( 
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( 2 +[b2 – 2 + c2 – 2 + a2 + 2] = abc

( a2 + b2  + c2 – abc = 4

Q.3
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Q4.
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AP ( BC

Let MP = x, PA = h and AC = y

(AMB is obtuse,

since 72 > 32 + 52
so p is located between M and C.

( h2 = 32 – x2
Similarly in  APB 

72 = (5+x)2 + h2
= 25 + 10x + x2 + 9 – x2
= 34 + 10x

( x = 1.5

Further y2 = (6-x)2 + h2
= 36 – 12x + x2 + 9 – x2
= 45 – 12x

= 27

( y = 
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Q5.
5|bcd then d = 5

Since 4|abc then c = 2 or 4

3|cde we have 3|c+d+e

If c=2, then 3| (2 + 5 + e)  ( e ( 2 (mod3)

This leads to contradiction, since e must be distinct from d = 5 and c = 2.

If, c = 4 then 3|(4 + 5 + e) ( e ( 0 (mod3)

From which we have e = 3

Now a, b (  {1,2}, since 2|4 is not a multiple of 4, we must hare a = 1, b = 2. So solution is abcde = 12453

Q6.
Let x litre be evaporated

15% of (50-x) = 10% of 50
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Q8.
x2 + 4x – 5 = 0

( (x + 5) (x-1) = 0

( = - 5 or 1

There are two rots of the second equation.

Since – 5 is a root.

(x + 5) (2x2 – x – 1) = 0

so another root = 1

i.e. (x+5) (x-1) (2x +1) = 0

Hence third root = - ½

Q9.
There are 127 possible paths
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Q10.
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Let the radius of c = r

So radii of b and c are

2r and 4r, respectively.

So areas are 16r2, 4r2  and r2 respectively

So shaded region = 4r2 - r2 = 3r2
So unshaded region = 16r2 - 3r2 = 13r2
So ratio  = 3 : 13
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